FSET % solutions

Pa.nm (e ‘Vuwe =0 = Va= oV
Vezas - Va= s

I = .E*""‘_if’l.% V- V)™ & .'El.qwhﬁ_ A

ISeM = ;i?:g [ Vas—Vi)™ = Vi, -Vim= 0866 & VasE 546V

O Vs = Vas +Va= 1,548 +o.1 = 2.24¢ (v)

——

f-bJ o= om WV

E_ e - T T r
(© ks : Fpwr | ‘
AL 1 ]
T 1 i i
Vs | _{j-% Vi e }Fﬂv 1ij éé Va ': % L= aShn
b [ . !

gtﬂr = Fﬂfrh{:ﬂl:r%'lp = Eqé_,q/uﬂff e .I!é.;"'; 5‘.5353 ﬁ'_‘i.":'_

E_Ivrg_ = "‘{ﬂ-‘-ﬂ_.q- E#I{T’u; ”"l'qﬂ-l-llnll RL]
e ., MBS Bt Yora= —Eﬁ = [2.5 kSL
W 3"*

j_E.uuf it

'I'r :,'.-_.Iyllrs—.._ 2 e
N T%ﬁ =~ 3335k

e Ring= [25k0+ 75 * = f.l':"'l"? M

{3‘5?1‘3.‘7.:1 [l oo b 2tk

Roue = —-l;:‘Jr L L. apgiin
3 o (9T e ——

(b Mw _ _CE0EMD et 2 0.99
Ve | gttt 282 LBk aEpat 205 K
Pa.s {ﬁ:ﬂ' Ve = Vi — Voue = V4 r Vo = O

MsCor W (Vo V)™ = [GAA 9 VesVoum 0B84

Viz= 0.306+Vrn= [.56EV
IL"IELT-.-H\-'—‘I.-"'.J.—"- Vee

e VEzps= 0T+ [Tt = 2.2/4 {'r]-'"r;]



Pq. &

k]

a oo, A
Gu = L2 = et/ e g =
Y = 10kT-

Y = aghkt>
Yoo = £0kS1

1"'lp.:.ll = _:Lﬂ'ﬂh.'nr
cby R = vy, =25 hL
[@) Rout = Yep// Tec = ajr i Aateln = fo. &l kL

(d} A"Va Wtrinsic = g (o Ao A e - 3111.':‘3’{?‘---'"” ﬁ"—"*)

= g dfy (A baieen) ey - | Lo-dl k=)

= na.gn X167

E\E‘j "dl'r?-" == Q—-:F'E'r__) "!.a'qﬂ-| {"‘Iﬁnl.-".-'“fbﬂl ""I:"lf":‘-] H’ﬁj’n' {Tﬂr’fﬁﬂ'{-}_ -"'?R'I.-}
R % T

— o ¥ &mAly x QL3RI X lomA/V > P BEHfI

= .60 x102

by Va=1.566(v)
() Fjﬂh 3 Srh A 7,
AR e T e Tt e ey
= Rowtr | /L,.;-’;ﬁl ;
E- + : II + i
A€ UGB AN L Nk &I 1 2R
1 I = L
e S SeERn T e e
Riny = /. J"Wf-gl Rowes = 205.1¢ 2 | = AIBEE
Foowt P B.TT
(D Vo 1.87GMS e = 0,284
Vs T 1 iguMsie Wk 1.38b2KS + 25k
(o)

=2k

-




Fa iy
(&)

Fg & gwﬂr"lﬂn!"iﬂu:ﬂ

W—Z Fu 5/1.-[ ¥loy rﬂ"__;M %Jﬁﬂ,"ﬁ

Yoi= Vo 88 e————
Ap In

.&3 w fogy = 333. 3 e
o Ry ow Glu s

(b

%—L Four 'H:-'—E- = |G & chosu't .::‘Lﬂmgﬂ
W
-;_—fuv i, = Jt:r*‘.f; — =
c S—
‘:J’ jm::i*}_:a}&kmx ;}q —, FTE-EWH
!
T&I-.':Tn;: [:'1533"_1‘?1! ol f,ﬁé'? J"-'f..n—
ve Re = L an 1 Mr
i lguere M chawne! feugrh wodilation for the bias paine cocleselartTag
[ﬂ} I-p-— P':"” -gi E'L-"m-‘r UTF}
UD'—‘*Vdr-:: o * bk -3V = o
= IU"I‘E-.;:-',':- '_E"-"r
Cooup = ZZL W x (3- o)
. W
L -I:': —_ .I"I:'.Fé
B Ty 2B e,y 0m)® =booAA
-' (_1"“55' '_'::'lrf.-:lh'.-_—
Uﬂi - ||1é* . f5-;.5!"|.-"' 3

o o Ill'J;En‘:—'_,-".é {1.-"'.-*"

I:?-':J Fﬂ_’ﬂj‘ﬂﬂ- 1 ,.EE:“—'?—:&;E'-‘ {'L-’ﬁg.-—b"m]l
l-’fﬁ:;-"i":'riﬂ-‘; 1 S Vee= [ 2.0 :-‘-.","?V
Ve =

LT7-3 = 12 (V) = Vazas



Fa.n i

- R e g
o

ﬂﬂu"_‘i

ﬁ.i

L
i

e e -

~
télﬂi

L]
i L] L]

— e mr e W g R

L

| o e — g m—

G G@nfp-%-lt; = :L!fl‘fﬁ 1% 35:::';;1-' - Imﬂr/.,;

T"'ﬂ't 1= Ya, & Voo = |!

e T D ke
ot Sl '
Rowt y = Gus = > = b33 i
J’lﬂfﬂ‘a}%*jﬂ
(e o o
PR o S e Rt Rowpen

| k-
fhfear 432480

1

— 1wt fy 2333 hos

1

- 20,4

E'Pl} R.;.,H_-_-.. , REw sl-i-::.{'.:ﬂl Le -ﬁ'k’ Rﬁu-l;;.;:-figu'uﬂl A

,.""’, ﬁma el it be +wice.

L% st e - Aimes

o
5 i

: ' ¥ ""'E:l.l' Youe | q '-..|+",-._ 12;[-"'1 ) i
aa i
4 1
i

—_— T— =



